JFAIN\—E> MHYD

$29EI2BAU-12T Y MIILEFHEXRE BHERAS

¢ ¥FiEY-J 4A6H (£) -78 (H)

EEEEEN -Vt 5 - 4EE

9 N - 7
All EF 2 =1 3 |YASHIRO| 4 HAEFC
B |5 RX 6 Z&HIH | 7| HanksB BAFRA
CcC|O9 BA¥AB |10 WS |11 =E) 12| AR
D |13 && |14 I/HB |15 IIF |16 SiI
E |17 RUCK |18| HanksA |19 AR 20| IRFHA

*RBU—-Y 21H (H)

EEEE N ——2Jt 59— EEE

1 2 3
I &% REE# VA
I |&TH =R HanksA
I | KR BRZTA FEfRS




*Fi#)-J 4H6H (1)

(RFTa1-)]

215 BRBRREN VIt - 4ER

] e SO = ¥ o SOl & ¥
10:30(A1| &%F 4 VSO0 &HU BR¥TB H# |A6|YASHIRO 1 VS 1 H4FC | TS RREER
10:55|B1| RX 0 VS 7 ZHIH & #FI ||B6|HanksB 1 VS 4 BA$FA | YASHIRO | H4FC
11:20|C1| BAFFB 2 VS 2 MES RX HIH |C6| H#F 0 VS 1z F4EE | HanksB BAFRA
11:45(A4| &I 1 VS 3 YASHIRO| BAFB RS |A3| &2 3 VS 0 HAEFC =E RS2
12:10(B4| &IA] 4 VS 0 HanksB| &Ll |[YASHIRO|B3| RX 0 VS 6 HHHA & HAEFC
12:35|C4| FEBEE 12 VS 0 H# HITH HanksB (C3| BA¥B 2 VS 3 M&EZE RX BRFTA
13:00(A2| 2 5 VS 1 YASHIRO| TS BH# |A5| &L o0VS 2 HRAEFC HBR#TB ML
13:25(B2| RX 2 VS 3 HanksB| <2 |[YASHIRO|BS5| &IE 1 VS 1 BAHA &Ll HRAEFC
13:50|C2| BE#HB 12 VS 2 H# RX HanksB (C5| FaSs 2 VS 4 m&EZE | HIMH BR¥RA
14:15 # a8 8 T F OE
(U-I=K]

A | @@ | B weolmeerc| B | 8 | x| = [0 [ B | RX |[ERTE|Hankse| Al B | 8 | % | = [
&2 % |4 0|5 213 as0f 9 (12| 1 |11 |1 RX % |0 B17[2823|086 0 |2 |16 ](-14 |4

H ofloma| w |1 aa3foas2[0 |1 |9 |-8|4|] BIHE 7 ;20 =« |4 801 e51f 7 [12]| 1 |11 |1
YASHIRO|[1 A2 5|3 a4 1 #% [t a1l 4 | 5|7 [-2([3]]HanksB|3 s22f0 84| w |14l 3 [4 [10 (-6 |3
HAEFCflo a33(2 asoft ne1| = [[4 |3 |4 |-1|2 BA¥TA 6 8301 B5 1[4 B6 1| % 7 (1112 [9 |2

C |wawin|mme| B |mew| b | @ | x| = (]

BA%TB % |2 a2|ece2|(2a3(4 (167 |9 (3

RS [[2 a2 2ca0f2cs4f 4 |16 | 6 [10 (2

BEf [2 @ 2|0 caz| % o wu| 0 |2 [37]-35|4

FREE 3 2[4 cs2|z o » [[9 |20 | 4 [16 |1




*¥FiEU-Y 4878 (H)

(RFTa1-)]

215 BRBRREN VIt - 4ER

AR 797N, Xt B 7z ¥ o, Xt = ¥
10:00|D1| =& 9 VS 0 IRHB RUCK KHR [D6| IIfF VS0 SiI HanksA IRHA
10:25|E1| RUCK 1 VS 6 HanksA SR IRHB E6] KEH 3 VS 1 RHA SITF S53iL
10:50(D 4| #/HB 0 VS 5 IIfF RUCK HanksA [D3| &#& 9 VS0 S5i KR IRHA
11:15[E 4| HanksA 0 VS 5 K= IRHB VXS E3[ RUCK 1 VS 3 IRHA ST Sil
11:40|D2| SR 4 VS 0 IIfF HanksA AR (D5 I®RHB 1 VS0 SiI RUCK IRHA
12:05|E2| RUCK 1 VS 4 KH =R AVEE: E5|HanksA 3 VS 0 IRHA RHB 53
12:30 s & B T FOE
(U-I=K]
D | i |smre| oz | oz | B |48 | & | = || B [RUCK|Menken| e |t B | 48 | s | = |
=R % |9 E10|4 E20(9 B30) 9 |22 | 0 |22 |1 RUCK % |1 Ee16|1 241 3310 [3 |13 [-10]4
I/HAB o 19| » |0 es5|1esof 3 |1 |14 |-13|3]|HanksAll6e e11| [0 e45(3 506 |9 |6 | 3 |2
745 o e24f5 0| % |oeoff 6 |15 4 |11 |2 R (4 e21(5 0| » |3 e1f 9 [12]| 2 [10 |1
SI7 |0 390 E5 1[0 E6 10| % 0 |0 (20 |-20 |4 PRHA |3 3 1|0 5 3|1 E6 3 e 31417 (-3]3




oRBEU-YJ 48218 (H)

215 ARRREN -Z2J 59— 4EE

X 1AZ(EHNE, 2 fZ3RREIRICESD

stams(| Ty PO =
10:00] 1 2% VS RREEE BRFTA FRS
10:20] 4 | FHFIH VS =R &% RER
10:40| 7 KR VS BR#TA HIH] =R
11:00 2 &2 VS IITF AR BA%RA
11:20f 5 | HIH - VS HanksA &2 I
11:40[ 8 AN VS RS HIIH] HanksA
12:00 3 | RR&ESRE VS hVEE PG FRS
12:20 6 =R VS HanksA RRAEE I
12:40| 9 | BAFHA VS RS =R HanksA
(U-I=K]
I =2 || IF | B | 8| K| = |8 I ZLIH]| SAR |HanksA B = |IBfhI
&2 % 1 2 HITH] % 4 5
RREETR 1 ¥ 3 =R 4 ¥ 6
IFF 2 3 % HanksA|| 5 6 ¥
I R | BRFRA | ERRE| B | 8 | K | &= |IEf
KR e 7 8
BRFTA 7 % 9
RS 8 9 %
13:30 1| 1471 VS 1472 = = E B
14:00 2 | 1413 VS 2411 = = E B
14:30 S
15:00( 3 | 10OBE VS 2085 E A E B
(b=FA>Y K]
1 2
1 1 1 2
iz iz iz v
1 2 3 1




